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3. HEHFET @158
(RBEE (BEEE) W= 267 kg
(2)7vh—RN b+
OBAH N= 6 ES
@94 X - Btk =M| 10 2
@1 ALY QHMIFER (FEIC& 2 HEH) A= 78 = | 78 x10°° |m?
OWBEEEEZBADIEY ERTRHADOT V> Hh—RIL FOBAY Nt=| 3 ES
B EAELYBBELETOFS He=| 643 Inm= " [0.643 m
()BT 2HAMNDHIRIL F RS L=| 681 Imm=[0.681 m
(5)EHT BHMDSH AL Fild BB E TOIER Le= 310 mm (Lg<L/2)=[0.310 m
4. BEEHE EEONMNAUT2ME£mIEEAL TEH)
(1) BEAKFEEE Kh=| 2.0 |
(2) REtANERE Kv=Kh/2=| 1.0 |
(3) BEAKEHER Fh=Kh-W-9. 8=| 5233.2 IN
(4) BEtRBEHBES Fv=Kv-W-9. 8=| 2616. 6 IN
(5)7 »h—HL +DBIHEA Rb= %H?Tﬁfﬁmg = 1647.1 N
(8)7 v A—HKIL FOHAMH Q=Fh/N=| 872.2 IN
(7)F7oh—RILMETBHHE
D3IRBHE o=Rb/A=| 21,1 IMPa< ft=176MPa
Q@AM HE T =0/A<] 1.2 IMPa< fs=101MPa
QBIREBAMERBICRIT DS fts'=1.4ft-1.67=| 228.5 MPa
ffE L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHEDT fs=| 176.0 MPa
o= 21.1 | MPa < fts=| 176.0 IMPa
(8)7 v h—RIL FOWEIE
D7 v h—HRIL FOBIE =HER BT N~ |
@aviy—+rOEE =] 180 = | 0.180 m
QR FOEARE S =] 130 = | 0130 m
@FRBRAE Ta=| 5488 LN > Rb= | 1647 |N
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1. #iE= (BEAMN—EF—I73> FHAEFER ZEHNI1=v GEFAERIWALY—X) |
2. %%= |[PUTV—P450DM—E (—-BS:*—BSG) |
3. HHRFET @138
(RBHEE (EHES) =] 267 ke
(2) 7o h—HRIL b
DA N= 6 ES
@94 X - Wik M| 10 2
@1 ALY OHMEFTER (FEC & DHER) A=| 78 = | 78 x10° w?
OWREREEZIBEDSIRYEZHIHADT U A—RIL FOBREY Nt=| 3 ES
B EHELYRBELETORS He=| 643 = [0.643 |m
() RET 2HAM DHIARIL bR/ L=| 681 =" [0. 681 m
(B) BT 2HAMNDHIHRIL b, SHBEDE TOER Le=| 310 Imm (Lg=<L/2)=[0. 310 |m
4. BREEE GEOMAUT2HEEORAALTHH)
(1) FREHAKFRE Kh=| 2.0 |
(2) ZEABERE Kv=Kh/2=| 1.0 |
(3) FEAKFHES Fh=Kh-W-9. 8=| 5233.2 IN
(4)RERSMEHBES Fy=Kv-W-9. 8=| 2616.6 IN
(5)7 wh—kIL kDBIHEH Rb= Fh'th(vLV:Zf_ng = 1647.1 N
(8) 7w h—HRIL FOE AW A Q=Fh/N=| 872.2 IN
(D ToA—RL MZET BHAE
O3RN E o =Rb/A=| 21.1 WPa < ft=176MPa
@t AW HE T=0/A=| 11.2 IMPa< fs=101MPa

QBIRELAMERBIZZ I B5E fts'=1.4ft-1.6 7= 228.5 MPa
Ff2L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHLDT fis=| 176.0 MPa
o= 21.1 | WPa < fts=| 176.0 MPa
(8)7 v h—IL FDET %
D7 v h—RIL DRI E =T SHLTUH—KUFHTRIL (PGEATF) PG-10 |
@avyy—+rOES =] 150 |mm= 0.150 m
@RI FOEAREE =] 90 = | 0000 m
@HB3IRFE Ta=| 10400 | N > Rb= | 1647 N
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